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Base your answers on what you studied in
Biology:

1- Write the scientific term:
Chemical substances recruit of large
circulating phagocyte cells which are
found 1n blood to sites of existence of
microbes in mature female?

2- Write the number represents the
following:

1*%) Pairs of ribs connected to the sternum.
2"4) Foot and the ankle bones.

3- What are the results of:

Nuclei from toad embryonic cells at
different stages of development were
removed and transplanted into unfertilized
toad eggs whose nuclei had been removed.

2

;\:«:-‘Y‘ séug&cﬂ_wj.\ Lﬁ;)—n&gﬁ
s AGY A e e

b e J1al molal| mllaaal | oIS -\
Al
Ao Lad LMt it ddleeS 55
2290 9o pull (B AS polial | Aceal !
Gilig )Suadl a9 9

1l Lea JS (le JIat @B b ,S30 - Y
.ol Aelany Juald i ¢ gliat 71931 :&,i
LB g g8 e Lol

r ol A ylel) ALY B Lo Y
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4- Choose only the right answer of the Los dald domouall Ayla Wi 4 i) - £
following: e
During the second infection with the same

pathogen the memory cells start dividing
quickly to produce large amounts of

CAISH) (yudh po 2GLY Agalaedt £l
Lo i 3,S1201 LS| @uudld (o ool |

Antibodies and the fixed macrophages. s aesldi Loty sl plus )

@ Antibodies and the active T-cells. AL A L1y Ssliaal  plu 1 @
Active T-cells and the major histocom-

@ patibility complex. el LR @

(@  Active T-cells and the mast cells. SRR TR €

5- Choose only one question (A) or (B) and | 2 (&) o (1) o=d15udt dsmi pisnt - 0
then give reason for: PS
A) Sexual reproduction may occur 292 5 by ruiand| SIS @y B - |
although the presence of one parent. dadb iy 3
B) Using of coconut milk in tissue culture | =013 ¢® s> Gedphasiul -
experiments. A Aely)

3 At aals
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6- What would happen with:

The increase secretion of testosterone
hormone from cortex of the adrenal glands

in mature female?

7- Choose only one question (A) or (B) and
then compare between the following:

A) Tonsils & Peyer’s patches.

B) The epidermal cells of the plant & the

1 de Ch.\:-u:t 1ale -1
5 S el Baasiond | Sl g g1 31531550105

Bl pal B d ST 5N 5y dd (ye

Sl

103 () 91 (1) ot i § pn) -V
138 JS (2 918
el pg OlEH e -
CTNES [BTRS [PRIPSER [ WP P
LA (B 2 5 AelieS

cell wall (concerning: the definition).

Al &b
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8- The following figure represents DNA DNA caclias dudes (Jies o1 JSEI1 -A
replication, then answer the following PRI ALY e Conl @3 duya!
question:

1) The part (B) show...... | e -

a) Template strand of DNA. otz DNA a5 -
st DNA @, - G

b) Replicated DNA strand. = .
el | palld - >
¢) Promoter sequence. B i g8 5y 300 (5B (1955 Lagal :Lsls
27) Which of (B or C) formed in the form +(C) 51 (B)
of small pieces? oo IS U a3l (521 @3N Lo <L
3) Which enzymes needed to build each (C) B
of (B & C)?
3 A
™ N N T [ . N
D B e
3
C E
/5 [ I Y IS I I Sy A |
5 W s
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9- What is the role of each of the following: 10v0 JS 43 pgds (SITI Hout) 4S3) -4
1*") Epididymis and prostate gland in S5 8 Uiliang ) Bk g Ol 131 + ¥
human male. Ol ¥
2") Finger-like ends in funnel of fallopian | =2''® &3 o2 feea¥l 3l :Lats
tube and vagina folds in human female. Olua¥l Al dagad Sl

10- Choose only one question (A) or (B) and | 3 (&) 9i (1) 5t 13udt asi pmisf =Y »
then write its scientific term: rdde JIAT alal| el IS
A) Proteins that stop the virus’s ol gyl L luial a8 g5 Soliccig o — §
multiplication as those that cause LAY g 153 9lad ¥ (g pid Sl
influenza and poliomyelitis. asdi i Clidg,d! Acgeme - w
B) Proteins play a role in the spatial DNA sg520 g2 1,801 pataiaty
organization of DNA within the nucleus. gt Jils
6 AWwN pals
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11- Choose only one question (A) or (B) and | p3 (<) 9i (1) ot gudt dsi pismt =1

then mention the importance:

A)The posterior part of the skull (cerebral
part).

B) Pulling roots in corms and bulbs.

12- Choose only one question (A) or (B) and
then give reasons for:
A) The gametophyte of Polypodium is
haploid.
B) The testes lies outside the body in the

10993 D9

Jamand) (po Al st
Ole ) gST1 g Jluas¥1 B BaLad ! yglmmt | -

@3 () 91 (1) ot guadt |yt -\ Y
e
Gl o gald diadt Sl
Shdcall A gamal
R el s Gleeastl 39y -

most of Mammalia.

SOLaitl elasse

7
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13- Show how to obtain: 3ue le Jguand! (ySad S eidg -\ ¥

. ISl LayBOLd ) oidas ¢
A number of planaria worms from one 2 # LB Ol G

worm? dadd 319339

14- Choose only the right answer of the following: | : b Les dadd dvouall Dol W1 Ji51 -1 €
The cells that regulate the degree of IMMUNE | ayovuy as s @l o1 L
response required to limit and discourage | o5 sllaall ol dselial
after elimination the pathogen ......... . )

(@)  Helper T-cells. saetaaizsmsea (1)
(®  Cytotoxic T-cells. EUURTITROTRTIN (B
@ Suppressor T-cells. PUNRIPRTC IR @
@ Eosinophil. sl eLiacd| LSt @

8 Al &b
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15-How can scientists obtain a plant strains | cle Joast! jo o Lalalt Sa3 a8 -1 0
do not need nitrogenous fertilizers? Butaul (1 Lo W A6 LA S M

P g -

. -

16-If the ribonucleated sequence of MRNA as | 148508 5.05-0 581 25 IS 131 -\ 1
the following: 1 SIS MRNA das 2 e

5'.....AUG — CCU - UGA — GCA - AUG - UAA
1*Y) Write the nucleotides sequence resulted | il chassds sdt obis st ¥

from the action of reverse transcriptase | msb ebill s dlslas (e
enzyme on this sequence.

.gu&J‘M|
2'Y) How many amino acids formed during | *=<¥! oolex¥lglslsie oS :lals
transcribed from this sequence? LA 10a Aan 55 e D Sl
9 W 5
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17- Illustrate by drawing only with complete | 4.US a0 dadd @ uw b sy -\V
labels the structure of the muscle fiber. (=2 Alaal) A aladl) Co S 43 SLILY
LoLusd

18- Look at the figure below then answer: | oLl coi@d I JSEI Guyal -\ A

1*) What does no. (3) represent. S(1) @l £t S fale ¥ ]
2") How are the antigen-antibody complex O Y dine ()98 LS <Ll
formed? S3laoll @untly
3) What is the type of immune response which A B liadl Bl 1 £.95 Lo LS

§8alnall ,:Luq:}” 3929 (e daliald

depends on the presence of antibodies?

\ (1) . ‘—}(3)

10 Al Fa1Y)
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19- Choose only one question (A) or (B) and | @3 (&) 5i (1) ottt udt asi 231 =14
then write its scientific term: tdle JIA elal! mllaaal | CAS)
A)A flower has (4) floral whorls, leaves I 505 Cllarons day 5l Lgd 5,50 -

of each whorl alternate with that of the | dawsett 3151 pe Leis JS 31y

next whorl. s 5
B) Single cells are adapted for direct 5 piles 9aill 3y9omie B g LSS — o

growth into complete plants. -adals Clils 1

20- How can DNA hybridization be used to | ool g plidviul LiSey as - ¥+
tell whether a particular gene is present | o i 3529 5o 2GS 8 G9!
in its genome and in what amount? § AliaS g (At ol gioma S 12

11 Al Fa1Y)
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21-What would happen when: 1ol A ylal) L Lo - Y

Destruction of infected red blood cells | aimaniciyemriauti b s s

with merozoits of Plasmodium malaria. Sy DLt p g 9055 Ol 535 ko

22- Choose only the right answer of the Los dadd Aovoual! Agla W i) =YY
following: ‘ol
The embryo has the ability t0 reSPONSe | acuyi e 5zt 4t ot pua
for stimulation during the ....... month of PR TP el oA
pregnancy..

12 Al Fa1Y)
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23-What would happen when:

s ke Eaony 13La - YT

Binding of antibodies to the outer coats of | aiayt sslzm ot pslowsdibloy

the viruses.

SO g ey A slandd

24-Compare between the following:

The male and female genital system
(concerning: the function)

108 JS (e ()18 - Y E
Shgantly mSiatt Lalindf jlgat!
o (38) OLud 1 B Ead! luliad)
(a5

Male genital system
S LUl jlgatt

Female genital system
i}V PR b [ PPR |

13
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25-Choose only one question (A) or (B)
and then illustrate by drawing:
A) Germinated pollen grain.

B) Starting with zygospore explain the
stages the scalariform conjugation in
Spirogyra.

14

@3 (@) 91 (1) o gudt A § pin) =Y O
1 dadd SUL JolS mu i midg
Al LAY A
Olglad ey g g3 ledine —o
S g ¥ (B elud | 1 5B Y

Al &b
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26-Look at the following figure then Los i | @ (I SIS (gmaya! - ¥

answer: sl
1) What is the type of joint between (1) 5() (1) O uandal 555 Lo 3

and (3)? S, Ol e it 3o sLolS
2") What would happen when absence the 3(Y) pd

structure no. (2)? e (1) by oS 0 feams (oS (L1
3¥) How can structure no. (2) be obtained 9":' ." ‘m‘;’f “"“"" -

its food and oxygen needed? et gl S il aeal L <Ll

o . st ad)

4™) What is the importance of this structure

in figure?

15 At aals
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27-1f you have gene carry the following
sequences of DNA contains the following
sequence:

Olas Ll Jaona (i ELA IS 131 =YYV

’3...TAC — TCC — TAC — TCC - ATT...”5

Answer the following:
1°) Write the sequence of nitrogen bases on
transcribed mRNA from the previous
strand.

2"d) Write the number of amino acids produced
from translated part of mRNA.

3) Count the number of tRNA types used in
this translation.

Ao 9 yiid) v lgall s cast ¥
# st MRNA cgjn e
‘Gl das 541 (g0

A ¥ yoleaWiane »Sil LAl
2G> daa p5 (e Al
.mRNA

tRNA gla—i 3ue @S A
Ses y Ao (9 Aetiiiue]!

28- Choose only one question (A) or (B) and
then give reason for the following:
A) The twinning of tendril around the
support in plants.
B) Formation of the transverse links that

extended from the myosin filaments of
the muscle fiber.

16

@3 (@) 9 (1) o audt i ) -YA
e
Saeled! Jgo 3Mal! calati (1)
Buliast| & paiuwaldf dasly 31 292 9 ()
Ladll (B rrwgueed! dogus (e
Saulinal
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29- Choose only the right answer of the 1ol Los daZh Aomiall Asla W1 i1 - Y4
following: Aopatl alua ¥l ,eld U LS
The cells that destroy foreign bodies, and | 223! i Zeeals LMs 1 g9y
change into phagocyte cells when needed | v LRI o
is the..... .

@ Mast cells. A latt @
(b Basophils. et (Q)
(©) Eosinophil. Az ()
@ Monocytes. B9t By @
30-Explain the following statement: 1ol Lo puuid - ¥
Thq epdgmetrium enlarges after the il e o1 3l oo
fertilization of ovum. gl olas s yovas
31-What would happen after: s die G 13le -1

The disappearance of nucleolus from the | s ciman Lsts o 2 gitetinss
nucleus of eukaryotic cell?

17 A s
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32-Write the scientific term:

Binding antibody to more than one
microbe, this leads to the adhering of
microbes on the same antibody, this
makes them weaker and liable to be
engulfed by phagocytes.

33-Mention the number of chromosomal
sets in each of the following:

A) Ookinete in life cycle of plasmodium
(malaria parasite).

B) Secondary oocyte in the ovary.

34-Choose only one question (A) or (B) and
then compare between:

A) Perforating protein & Lymphokines.
B) Cytotoxic T-cells (Tc) & Helper T- cells (T,)).

Gle JIdT) Galalt mllamed CLIS) -YY
+ 4G 3 kel
FEL d 198 sliaat | gusd | doldyl dules
ol e Sl Seadl panig g )Sie (o
L o puaiy Lganing Las sLiaal | gt
eald I LRI IMS (o algid S

134 JS (58 dudual! Ol gasnall 3cke (€31 Y
B 3590 2 STl selati -
-Lodett pgasga) Sl
d I A gl A cd! LSS - ¥
.ol

1@ (@) 9 (1) OVt A 250 ¥ E
1o )18
Ol gaalllg (31598 pd | Oliig o - |
LSty alGlat Al LSt - o
RV PPN W wi ]
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35-Mention the site and the function of the
following:

1) ACTH.
21%) ADH.

1 JS Aaddgg olSe HSII -Y0
ACTH (%5
ADH a1

The site st

The Function zagsgn

ACTH

in

ADH

Loy

19
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36-Look at the following figure, then answer |  coi @3 Clelel (A1 JSEI (upsl -1
the following: P AGY) ALY e
1%Y) Write the labels nos. (1), (2) & (3). ()9 (V) (1) sobladf cast ¥ i

2"d) Write what the part no. (4) represents? | () pdssiatt asdl e Lo cost: Lol

/(1) 3
A [ 70)

I e NP

Cﬁ /42(2)
o= l:—‘g(")

(4)j;" S K

G —7, <5

37- Choose only one question (A) or (B) @3 (@) 9 (1) ot 3aad) A y2s ) ¥V
and then write its scientific term: rdde JIAN alal) ol IS
A) A curved bone binds to down ward and | dwaiy Jaw¥ i dwsie detac (1)
attached posteriorly to the centrum of | Lessiigs aall puas atsdl e
vertebra and its transverse process. 0 paliauad
B) A continuous rotational movement of | 5> o Pl cleas! ()
the cytoplasm in one direction in the | & &8k itb & pctun 2192

plant cell. g ol

20 WH 5
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38-Choose only one question (A) or (B) and | e (<) o (I) G5t di jint -¥A
then give an account on: 142 Aguadell Lo 4S5
A) Interleukins. olius g ¥ ()
B) The cork formation. SOlat ! (565 ()

39- Choose only one question (A) or (B) and | 2 (&) o (1) o 13wt asi pi5) -4
then mention the site and the function. F Al g9 dilSe LS|
A) The endosperm. 9331 (1)
B) Embryonic membranes. A L I CD)
The site i The Function zzg g
21 ¥ Fa1Y)
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40- Choose only the right answer of the
following:

The second meiotic division in the
secondary oocyte of human female takes
place in the ........ .

Grafian follicle.
Endometrium.

Fallopian tube.

®OE

Uterine cavity.

41- Give reason for:

The lymphocytes at the beginning they do
not have any immune ability.

22

L&ﬁmw‘ 2\_.114.}'!;«:‘-1 ¢
an

‘“_,.'s\_“d‘gjj_j_o_ﬂ?\_u@3| Gy

RS UPCTELL | EAPNI (P S IFENT

1ok Let e - £
5548 61 Lgt a8y ¥ Ay glaedd! LI
g eSS Aol B el
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42- What would happen if: s e Gdong 13Le - £ Y
Growing tip of a plant is treated with the | i Le Slid acelidt 2eatiantlas
mustard gas? SARFEAY

23 ¥ Fa1Y)
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43- The figure below show a T. S. in the O i | @ L JSG (i pal - £ Y
testis of a human male, look at it then PG AL
answer the following:

1) What would happen if the structure
no. (1) is absent? What is the
importance of structure no. (2)?

2") What does no. (3) point to? What is
the chromosomal number for no. (4)?

C))

§(1) S0 L& 13 oot 3L £ ]
3(Y) 8y cuS 4 deni Lag
3() el 4! jedy 21 Lo sLaLS
S(6) 43 asaal sl Lo

)

)

24 AN
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44- Compare between the following: rom (B - £ €
Alpha cells & Beta cells in islets of 53La 20 ¥ )5 8 Lo LS Lat I Ly SIS
Langerhans.

Alpha cells Beta calls
Lati LSl i L3

45- You have a mRNA carries the following | y—s> MRNA i claur-to

sequence: 1 o L g L
N N
5....AUG - UAU - GUG -AAU-ACC-UAA...3

The codons of amino acids were: EEPER (e PR EN ML PIPS AL

(AL Aa I

Methionine | Tyrosine | Valine | Asparagine | Threenine | Glycine

(3 geeen O g 3 OJL2 Ol O 9 =S Ot
AUG UAU GUG AAU ACC GCG

Answer the following: P AGY A e
R PP S { o K WIS~ i Y :Yﬁ?

1*) Write the anticodons on the tRNA to ] 0 tRNA
the previous sequence. . é,‘,”hﬂg,‘}ﬂl o

2"d) Write thq sequence of amino acids mna | . :;d‘ _::c Ao
polypeptide chain translated from this | . 5,0, clesteey
strand. bt it
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